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Q1. Find position vector of point A(2 -1,3) and its magnitude:
(@) A = 21— + 3k, |4]
(b) 4 = 20+ + 3k, |4]
(c) A =2i—j— 3k, |4]
(d) None of these

ERES

Q2. If the dot product of two non-zero vectors V; and 72’ IS zero. what does that tell us?

@QV,=V, (b) V3 is parallel to V,
(© 71) is perpendicular to 72’ (d) Vf is a component of 72)

Q3. Find the dot product of the pair of vectors.A = 4i + j, B = =i - j?

(@) 5 (b) 4 (c)-5 (d) -4

Q4. Ifavector 21 +f+3k,.is perpendicular to the-vectar 47— 4j + ak. Then the value of
ais:
(a) ~¢ (b) < (c) 4 (d) -5

Q5. The vector sum of twe, forces is ‘perpendicular to their vector differences. In that case,
theforces
(@) Are not equal to each other in magnitude. (b) Are equal to each other in

magnitude.

(c) Are equal to each other. (d) Cannot be predicted.

Q6. Letd=1i+jand, B = 2i— j. The magnitude of a coplanar vector C such that 4 - B =
B-C=A4-C,isgivenby:

@) N (b) \/g (© \/% (d) \/%

Q7. Theangle between two vectors —21 + 3j + k and i + 2j — 4k is:
(@ o0° (b) 90° (c) 180° (d) None of these

-
N N

Q8. Given vector @ = 2i + 3j, and vector b = i + j. What is the vector component of @ in
the direction of b:

(8) 20 +2] (b) 5¢ + 5f
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(c) 21+ 2j (d) None of these

Q9. Findthe angle between A = 41+ j + 3k and B =1 + 3] + 4k:
(@) cos™? % (b) cos™?! g
(¢) cos 12 (d) None of these

26

Q 10. The position vectors of pomts A,B,CandDare 4 = 30 + 4j + 5k, B = 4i + 5] + 6k,

C =7i+9j + 3k and D = 41 + 6 then the displacement vectors AB and CD are?
(a) Perpendicular (b) Parallel
(c) Antiparallel (d) Inclined at an angle of 60°

Q11. Ifd, b, ¢arevectorssuchthatd+ b+ ¢ = 0and |G| = 7, |E| =5,&| = 3. then the
angle between c and b is:
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Answer Key
Q.la Q.2¢c Q.3c Q4a Q5b
Q6b Q.7b Q8a Q9b Q.10¢
Q.1lla
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